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b. (i) 
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Question 2

a.
[image: image13.wmf](

)

(

)

(

)

4,0  2,0  0,32

ABD

=-==-


(1 mark)

b.


[image: image14.wmf](

)

(

)

(

)

4

3

4 is a point of inflexion

2 is a intersection point

The coefficient of  is a positive

42

x

x

x

fxxx

=-

=

\=+-


(2marks)

c.

[image: image15.wmf](

)

(

)

2

3

4

2

432

4

2

5432

4

2

5

432

4

Area42

102432128

102432128

5432

5

816128

52

1048896

Area

55

1944

Area

5

-1944

Area below the x-axis 

5

 The area is 

xxdx

xxxxdx

xxxx

x

x

xxxx

-

-

-

-

=+-

=++--

éù

=++--

êú

ëû

éù

=++--

êú

ëû

-

æöæö

=-

ç÷ç÷

èøèø

-

=

æö

ç÷

èø

\

ò

ò

2

1944

km

5

=


(3 marks)
d. (i)
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(ii)
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Question 3

a.

(i)
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Question 4
a.

(i)
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(iii)
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(ii)

The coordinates of two minimum points is (3, 0) and (7, 0)
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b.
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